

SULEIMAN ABDULLAH EZZID

17/EAG05/046

MECHATRONICS ENGINEERING

Derive the Analysis for the Output Voltage in Using Operational Amplifier for

- i) proportional Integral Controller mode
- ii) proportional Derivative Controller mode.

Solution

For proportional Integral Controller mode.

$$\bar{I}_1 + \bar{I}_2 = 0 \quad \text{--- (1)}$$

$$\bar{I}_3 - \bar{I}_2 = 0 \quad \text{--- (2)}$$

The Current through the Capacitor is

$$\bar{I}_c = C \frac{dV_c}{dt}$$

Note: $\bar{I}_1 = \frac{V_c - V_a}{R_1}$ But $(V_a = 0)$

$$\therefore \bar{I}_1 = \frac{V_c}{R_1}$$
$$\bar{I}_2 = \frac{V_b - V_a}{R_2} \quad (V_a = 0)$$
$$\therefore \bar{I}_2 = \frac{V_b}{R_2}$$
$$\bar{I}_3 = \frac{C d}{dt} (V_{out} - V_b)$$



Substitute eqn (*) into eqn (1) & (2)

$$\frac{V_c}{R_1} + \frac{V_b}{R_2} = 0 \quad \text{--- (3)}$$

$$\frac{C d}{dt} (V_{out} - V_b) - \frac{V_b}{R_2} = 0 \quad \text{--- (4)}$$

$$V_b = -\frac{R_2}{R_1} V_c$$

The Laplace transform of eqn (4) becomes

$$sC(V_{out}(s) - V_b(s)) - \frac{V_b(s)}{R_2} = 0$$

$$sC V_{out}(s) = sC V_b(s) + \frac{V_b(s)}{R_2}$$

$$sC V_{out}(s) = V_b(s) \left(sC + \frac{1}{R_2} \right)$$

But $V_b = -\frac{R_2}{R_1} V_c$

$$sC V_{out}(s) = -\frac{R_2}{R_1} V_c(s) \left(sC + \frac{1}{R_2} \right)$$

$$V_{out}(s) = -\frac{R_2}{sCR_1} V_c(s) \left(sC + \frac{1}{R_2} \right)$$

$$V_{out}(s) = -\frac{R_2}{R_1} \left(V_c(s) - \frac{R_2}{sCR_2} V_c(s) \right)$$

from the inverting circuit

$$V_{out} = -V_{out}$$

$$\therefore V_{out}(s) = - \left(-\frac{R_2}{R_1} V_c(s) - \frac{R_2}{R_1} \frac{1}{sCR_2} V_c(s) \right)$$

$$V_{out}(s) = \frac{R_2}{R_1} V_c(s) + \frac{R_2}{R_1} \frac{1}{sCR_2} V_c(s)$$

taking the inverse Laplace transform

$$V_{out} = \frac{R_2}{R_1} V_c(s) + \frac{R_2}{R_1} \frac{1}{R_2} \int_0^+ V_c(t) dt + V_c(s)$$

(where $\frac{1}{s} = \int_0^+ dt + 1/s$) But $G_P = \frac{R_2}{R_1}$ & $G_I = \frac{1}{R_2 C}$

$$V_{out} = G_P V_c + G_P G_I \int_0^+ V_c dt + V_c(s)$$

For PD Controller

$$\bar{I}_1 + \bar{I}_2 = \bar{I}_3 \quad \text{--- (1)}$$

$$\bar{I}_3 + \bar{I}_4 = 0 \quad \text{--- (2)}$$

$$\bar{I}_1 = \frac{V_c - V_a}{R_3}$$

$$\bar{I}_2 = \frac{c \Phi}{dt} (V_c - V_a)$$

$$\begin{aligned} \bar{I}_3 &= \frac{V_a - V_b}{R_1} \quad (V_b = 0) \\ &= \frac{V_a}{R_1} \end{aligned}$$

$$\begin{aligned} \bar{I}_4 &= \frac{V_{out 1} - V_b}{R_2} \quad (V_b = 0) \\ &= \frac{V_{out 1}}{R_2} \end{aligned}$$

(*)

$$R = \frac{R_1 R_3}{R_1 + R_3} \quad \leftarrow \text{Effective resistance}$$

Substituting eqn (*) into eqn (1) / (2)

$$\frac{V_c - V_a}{R_3} + \frac{cd}{dt} (V_c - V_a) = \frac{V_a}{R_1} \quad \text{--- (3)}$$

$$\frac{V_a}{R_1} + \frac{V_{out 1}}{R_2} = 0 \quad \text{--- (4)}$$

eqn (4) becomes

$$\frac{V_a}{R_1} = -\frac{V_{out 1}}{R_2}$$

$$V_a = -\frac{R_1}{R_2} V_{out 1}$$

from eqn (3) re-arranging

$$\frac{V_c - V_a}{R_3} + \frac{cd}{dt} (V_c - V_a) - \frac{V_a}{R_1} = 0$$

The Laplace transform becomes

$$\frac{V_c(s) - V_a(s)}{R_2} + sC(V_c(s) - V_a(s)) - \frac{V_a(s)}{R_1} = 0$$

Initial conditions becomes zero

$$\frac{V_c(s)}{R_3} + sCV_c(s) = \frac{V_a(s)}{R_1} + \frac{V_a(s)}{R_3} + sCV_a(s)$$

$$V_c(s) \left(\frac{1}{R_3} + sC \right) = V_a(s) \left(\frac{1}{R_1} + \frac{1}{R_3} + sC \right)$$

Recall, $V_a = -\frac{R_1}{R_2} V_{out 1}$

$$V_c(s) \left(\frac{1}{R_3} + sC \right) = -\frac{R_1}{R_2} V_{out 1}(s) \left(\frac{1}{R_1} + \frac{1}{R_3} + sC \right)$$

$$V_c(s) \left(\frac{1 + R_3 sC}{R_3} \right) = -\frac{R_1}{R_2} V_{out 1}(s) \left(\frac{R_3 + R_1 + sCR_1 R_3}{R_1 R_3} \right)$$

$$V_c(s) (1 + sCR_3) = -\frac{V_{out 1}(s)}{R_2} (R_3 + R_1 + sCR_1 R_3)$$

$$-V_{out 1}(s) = \frac{V_c(s) (1 + sCR_3) R_2}{(R_1 + R_3 + sCR_1 R_3)}$$

$$-V_{out 1}(s) = \frac{V_c(s) (R_2 + sCR_2 R_3)}{(R_1 + R_3 + sCR_1 R_3)}$$

Dividing the numerator & denominator by $R_1 + R_3$

$$-V_{out 1}(s) = \frac{V_c(s) (R_2 + s(R_2 R_3)) / (R_1 + R_3)}{\frac{R_1 + R_3}{R_1 + R_3} + \frac{sCR_1 R_3}{R_1 + R_3}}$$

Recall, $R = \frac{R_1 R_3}{R_1 + R_3}$

$$-V_{out 1}(s) = \frac{V_c(s) (R_2 + sCR_2 R_3) / (R_1 + R_3)}{1 + sCR}$$

If $sCR \ll 1$

$$-V_{out 1}(s) = \frac{V_c(s) (R_2 + sCR_2 R_3)}{R_1 + R_3}$$

from the inverting circuit
 $V_{out 1} = -V_{out} + V_o$

$$\therefore (-V_{out}(s) + V_0) = \frac{V_c(R_2 + s(R_2 R_3))}{R_1 + R_3}$$

$$V_{out}(s) - V_0 = \frac{V_c(s)R_2}{R_1 + R_3} + \frac{sR_2 R_3}{R_1 + R_3} V_c(s)$$

$$V_{out}(s) = \frac{R_2}{R_1 + R_3} V_c(s) + \frac{R_2}{R_1 + R_3} R_2 R_3 s V_c(s) + V_0$$

taking the laplace transform

$$V_{out} = \frac{R_2}{R_1 + R_3} V_c + \frac{R_2}{R_1 + R_3} R_2 R_3 C \frac{dV_c}{dt} + V_0$$

$$\text{But } G_p = \frac{R_2}{R_1 + R_3} \neq G_D = R_2 R_3 C$$

$$\therefore V_{out} = G_p V_c + G_p G_D \frac{dV_c}{dt} + V_0$$